
Solving Operational Challenges

What types of operational challenges did the use of Stealthwatch
by Cisco solve?

Reduction in Mean-Time-to-Know (MTTK) root
cause of network or security incidents

Improved in network performance

Improved network security posture

Improved in application performance

Improved efficiency in the identification of
security threats

Improved forensic analysis

Increased correlation of user identity and
activity

Increased visibility of mobile devices

Increased flow collection, monitoring and
analysis

Enhanced compliance posture
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Source: Survey of 84 users of Cisco Stealthwatch
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